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Illustrations

1. Find seven rational numbers between  and .

Watch Video Solution

1/6 5/21

2. Find five rational numbers between  and .

Watch Video Solution

4 5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C2nQhFZZ2uyj
https://dl.doubtnut.com/l/_JHDlkduLRuOa


3. Locate  on the number line.

Watch Video Solution

√2

4. Locate  on the number line .

Watch Video Solution

√3

5. Locate  on the number line.

Watch Video Solution

√17

6. Express  in decimal form.

Watch Video Solution

21/25

7. Express  in decimal form.87/32

https://dl.doubtnut.com/l/_ICKmOKtHSImx
https://dl.doubtnut.com/l/_g8whtqTO8rf6
https://dl.doubtnut.com/l/_GVd7ZD9wfOmb
https://dl.doubtnut.com/l/_22BE9Mx40A4n
https://dl.doubtnut.com/l/_ESE48r3HoPl5


Watch Video Solution

8. Express  in decimal form.

Watch Video Solution

5

8

9. Convert  into decimal form.

Watch Video Solution

27
16

10. Represent the following as decimal numbers : 

Watch Video Solution

12

7

11. Represent the following as decimal numbers : 

1

3

https://dl.doubtnut.com/l/_ESE48r3HoPl5
https://dl.doubtnut.com/l/_ZRvZ5keUdxEW
https://dl.doubtnut.com/l/_WVlrRVCta597
https://dl.doubtnut.com/l/_1D2xbznMwIa4
https://dl.doubtnut.com/l/_BXaWSF6On0WW


Watch Video Solution

12. Represent the following as decimal numbers : 

Watch Video Solution

4
11

13. Find the period of decimals of  and the length of its period.

Watch Video Solution

22

7

14. Express the rational number  in recurring decimal form by using

the recurring decimal expansion of  . Hence, write  in recurring

decimal form.

Watch Video Solution

1/27

1/3 59/27

https://dl.doubtnut.com/l/_BXaWSF6On0WW
https://dl.doubtnut.com/l/_6zxmp90UbOt0
https://dl.doubtnut.com/l/_3H3mhg3gHksn
https://dl.doubtnut.com/l/_fnHaTcQhfuUF


15. Convert the following decimal numbers into the form m/m. 

(i)  

(ii)  

(iii) 

Watch Video Solution

0.35

0.175

0.0025

16. Express the following recurring decimal expansions in the form ,

where p and q are integers and . 


(i)  


(ii)  


(iii) 

View Text Solution

p

q

q ≠ 0

0. 4̄

12. ¯̄̄ ¯̄¯124

0.2̄ ¯̄̄37

17. Represent  on the number line.

Watch Video Solution

4.765

https://dl.doubtnut.com/l/_2xOG3WADKzCj
https://dl.doubtnut.com/l/_1NWu8r2f0D97
https://dl.doubtnut.com/l/_yL1OYTeej2To


18. Visaualise  on the number line, upto 4 decimal places.

Watch Video Solution

3. ¯̄̄¯26

19. Rationalise the denominator of 

Watch Video Solution

5

√3 − √5

20. Rationalise the denominator of 

Watch Video Solution

1

8 + 4√2

21. Rationalise the denominator of 

Watch Video Solution

a2

√a2 + b2 + b

https://dl.doubtnut.com/l/_JNiVihx9Jkah
https://dl.doubtnut.com/l/_arnQSTiKnSLX
https://dl.doubtnut.com/l/_0wsvrYVg4cDw
https://dl.doubtnut.com/l/_4Z4D8yEBzc2t


22. Simplify : 

(i)  


(ii) 

Watch Video Solution

( )
243
32

4
5

3√(343)
−2

23. Simplify : 

Watch Video Solution

( )
−

× ( )
−325

9

3
2 2

5

24. Simplify : 

Watch Video Solution

π3 / 4. π1 / 2

25. Simplify : 

View Text Solution

( )
l2+m2− lm

× ( )
m2+n2−mn

× ( )
n2+ l2−nl

xl

x−m

xm

x−n

xn

x−1

https://dl.doubtnut.com/l/_I48RBxOcIUqC
https://dl.doubtnut.com/l/_OSTKF6KIGI43
https://dl.doubtnut.com/l/_aiBmKiRevhvS
https://dl.doubtnut.com/l/_n2uzDVM6vHnB


Solved Examples

View Text Solution

26. Simplify : 

Watch Video Solution

( )
a+ b

. ( )

b+ c

. ( )
c+a

2a

2b
2b

2c
2c

2a

27. If 
prove that 

Watch Video Solution

ax = b,  by = c and cz = a, xyz = 1

1. Find the value of  .

Watch Video Solution

2. 6̄ − 0. 9̄

https://dl.doubtnut.com/l/_n2uzDVM6vHnB
https://dl.doubtnut.com/l/_XiWgRWKdr8uN
https://dl.doubtnut.com/l/_wsCokcLZ2rHp
https://dl.doubtnut.com/l/_r8WDAE7XUS3A


2. Simplify: 

Watch Video Solution

5 3√250 + 7 3√16 − 14 3√54

3. Express  in the form p/q where p and q are integers and .

Watch Video Solution

0.2̄ ¯̄̄35 q ≠ 0

4. Check whether are irrational numbers or

not.

Watch Video Solution

7√5, , √2 + 21, π − 2
7

√5

5. Evaluate : 

Watch Video Solution

√7 + √5

√7 + √20 + √28 − √5 − √80

https://dl.doubtnut.com/l/_88lWyERGarHK
https://dl.doubtnut.com/l/_Ea0Fv6E6qihD
https://dl.doubtnut.com/l/_tLmRPVjAfy6f
https://dl.doubtnut.com/l/_H1G20488AKBz


6. Find any five rational numbers lying between  and .

Watch Video Solution

2

7

2

5

7. Express the rational number  in decimal form and hence, find the

decimal expansion of  .

Watch Video Solution

1/13

4
4
13

8. Find an irrational number between  and  .

Watch Video Solution

1

7

2

7

9. By taking , find the value of 

Watch Video Solution

√2 = 1.414
5√2

2

https://dl.doubtnut.com/l/_jfAy4c69XJEz
https://dl.doubtnut.com/l/_5kr2wvLKXieH
https://dl.doubtnut.com/l/_o2g31ge3F3mp
https://dl.doubtnut.com/l/_S0o5aLBOFfsj


10. By taking , find the value of  upto three places of

decimal .

Watch Video Solution

√3 = 1.732
5√3

3

11. By taking , evaluate  upto three places of decimal.

Watch Video Solution

π = 3.141
2π + 3√2

5

12. Simplify :  .

Watch Video Solution

0.885̄ − 0.3̄ ¯̄̄53

13. If , then find the value of  .

Watch Video Solution

m = 1 + √2 m4 −
1

m4

https://dl.doubtnut.com/l/_KiksiDJ9gRaH
https://dl.doubtnut.com/l/_JE3gbfP1Mykt
https://dl.doubtnut.com/l/_qPNB9jeDuSSF
https://dl.doubtnut.com/l/_jGi63Sst9NXR


Ncert Questions Exercise 1 1

14. If  then find the value of 

View Text Solution

(√6)
n
= 216 (n)3 / 2

15. Which of the following is greater :  or  ?

Watch Video Solution

12

√2

18

√3

1. Is zero a rational number? Can you write it in the form , where p and

q are integers and ?

Watch Video Solution

p

q

q ≠ 0

2. Find six rational numbers between  and  .

Watch Video Solution

3 4

https://dl.doubtnut.com/l/_mEZZnz4E6UU0
https://dl.doubtnut.com/l/_gHh640sbyqVF
https://dl.doubtnut.com/l/_zTVH1VC0ylXq
https://dl.doubtnut.com/l/_wniL3C6SDcaI


Ncert Questions Exercise 1 2

3. Find five rational numbers between  and  .

Watch Video Solution

3/5 4/5

4. State whether the following statements are true or false . Give reasons

for your answers. 

(i) Every natural number is a whole number. 

(ii) Every integer is a whole number . 

(iii) Every rational number is a whole number .

Watch Video Solution

1. State whether the following statements are true or false . Justify your

answers. 

https://dl.doubtnut.com/l/_wniL3C6SDcaI
https://dl.doubtnut.com/l/_1mPyzswFH2d9
https://dl.doubtnut.com/l/_1JPWu7NnWRhm
https://dl.doubtnut.com/l/_OCgWza1H54Gc


Ncert Questions Exercise 1 3

(i) Every irrational number is a real number . 

(ii) Every point on the number line is of the form , where m is a

natural number . 

(iii) Every real number is an irrational number .

Watch Video Solution

√m

2. Are the square roots of all positive
 integers irrational? If not, give an

example of the
square root of a number that is a
rational number.

Watch Video Solution

3. Represent  on the number line

Watch Video Solution

√5

https://dl.doubtnut.com/l/_OCgWza1H54Gc
https://dl.doubtnut.com/l/_HBi0uhGSzrrS
https://dl.doubtnut.com/l/_LsglO6aUDwdU


1. Write the following in decimal form and say what kind of decimal

expansion each has :(i)  (ii)  (iii)  (iv)  (v)  (iv) 

Watch Video Solution

36

100

1

11
4

1

11

3

13

2

11

329

400

2. You know that  . Can you predict what the decimal

expansions of  are, without actually doing the long

division ? If so, how ? 

[Hint : Study the remainders while finding the value of  carefully . ]

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

, , , ,
2

7

3

7

4

7

5

7

6

7

1

7

3. Express the following in the form p/q, where p and q are integers and

 . 


(i)  


(ii)  

(iii) 

Watch Video Solution

q ≠ 0

0. 6̄

0.47̄

0. ¯̄̄ ¯̄¯001

https://dl.doubtnut.com/l/_sp7DvqyrTqXo
https://dl.doubtnut.com/l/_Z425bvBZwKDY
https://dl.doubtnut.com/l/_Eyzh3jAxDl05


Watch Video Solution

4. Express 0.99999 .... in the form . . Are you surprised by your answer?

With your teacher and classmates discuss why the answer makes sense.

Watch Video Solution

p

q

5. What can the maximum number of digits be in the repeating block of

digits in the decimal expansion of  ? Perform the division to check

your answer.

View Text Solution

1/17

6. Look at several examples of rational numbers in the form 

where p and q are integers with no common factors other than  and

having terminating decimal representations (expansions ). Can you guess

what property q must satisfy ?

Watch Video Solution

(q ≠ 0)
p

q

1

https://dl.doubtnut.com/l/_Eyzh3jAxDl05
https://dl.doubtnut.com/l/_0c4ogq5ojsLV
https://dl.doubtnut.com/l/_NN7b0TCOq8lX
https://dl.doubtnut.com/l/_qcvzX0lPDFXn


7. Write three numbers whose decimal
 expansions arc non-terminating

non-recurring.

Watch Video Solution

8. Find three different irrational number between the rational numbers

5/7 and 9/11.

Watch Video Solution

9. Classify the following numbers as rational or irrational . 

(i)  

(ii)  

(iii)  

(iv)  …. 

(v)  …...

Watch Video Solution

√23

√225

0.3796

7.478478

1.101001000100001

https://dl.doubtnut.com/l/_qcvzX0lPDFXn
https://dl.doubtnut.com/l/_Zr5oRBQwyNvp
https://dl.doubtnut.com/l/_e0IFesqzB8Bi
https://dl.doubtnut.com/l/_C4hEnEEZcDZb


Ncert Questions Exercise 1 4

Ncert Questions Exercise 1 5

1. Visualise  on the number line, using successive magnification .

Watch Video Solution

3.765

2. Visualise  on the number line, upto  decimal places.

Watch Video Solution

4. ¯̄̄¯26 4

1. Classify the following numbers as rational or irrational . 

(i)  


(ii)  


(iii)  


2 − √5

(3 + √23) − √23

2√7

7√7

https://dl.doubtnut.com/l/_C4hEnEEZcDZb
https://dl.doubtnut.com/l/_qWYlDjmiCL0s
https://dl.doubtnut.com/l/_bu6aCrRUhI49
https://dl.doubtnut.com/l/_Qce9syyEbHV8


(iv)  

(v) 

Watch Video Solution

1

√2

2π

2. Simplify each of the following expressions : 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

(3 + √3)(2 + √2)

(3 + √3)(3 − √3)

(√5 + √2)
2

(√5 − √2)(√5 + √2)

3. Recall,  is defined as the ratio of the circumference (say c ) of a circle

to its diameter (say d). That is ,  = c/d . This seems to contradict the fact

that  is irrational. How will you resolve this contradiction ?

Watch Video Solution

π

π

π

https://dl.doubtnut.com/l/_Qce9syyEbHV8
https://dl.doubtnut.com/l/_CFqQevchVpaD
https://dl.doubtnut.com/l/_MDhXFcsR1bbm
https://dl.doubtnut.com/l/_HXVKluNqIJJI


Ncert Questions Exercise 1 6

4. Represent  on the number line.

Watch Video Solution

√9.37

5. Rationalise the denominators of the following : 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

1

√7
1

√7 − √6
1

√5 + √2
1

√7 − 2

1. Find : 

(i)  
641 / 2

https://dl.doubtnut.com/l/_HXVKluNqIJJI
https://dl.doubtnut.com/l/_4ANz1Pv9XxtN
https://dl.doubtnut.com/l/_U2C7IjVNFrE5


(ii)  


(iii) 

Watch Video Solution

321 / 5

1251 / 3

2. Find : 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

93 / 2

322 / 5

163 / 4

125−1/3

3. Simplify : 

(i)  


(ii)  


(iii)  

(iv) 

22 / 3.21 / 5

( )
71

33

11
1
2

11
1
4

71 / 2.81 / 2

https://dl.doubtnut.com/l/_U2C7IjVNFrE5
https://dl.doubtnut.com/l/_YykQe8Ut9uOf
https://dl.doubtnut.com/l/_7MpY0OOGCGm9


Exercise Multiple Choice Question Level 1

Watch Video Solution

1.  can be expressed in rational form as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.123̄

900

111

111

900

123

10

121

900

2. The fraction  is equal to
2(√2 + √6)

3(√2 + √3)

https://dl.doubtnut.com/l/_7MpY0OOGCGm9
https://dl.doubtnut.com/l/_Dlb9sfXM1Ece
https://dl.doubtnut.com/l/_GTG5tK7JMiLk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2√2

3

1

2√3

3

4
3

3. If  , then  =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x ≥ 0 √x√x√x

x√x

x 4√x

8√x

8√x7

https://dl.doubtnut.com/l/_GTG5tK7JMiLk
https://dl.doubtnut.com/l/_PeqMSeoc5Xaw


4. Set of natural numbers is a subset of

A. Set of even numbers

B. Set of odd numbers

C. Set of composite numbers

D. Set of real numbers

Answer: D

Watch Video Solution

5. Simplify: 

A. 

B. 

C. 

− −
7√3

√10 + √3

2√5

√6 + √5

3√2

√15 + 3√2

1

2

1/2

https://dl.doubtnut.com/l/_PeqMSeoc5Xaw
https://dl.doubtnut.com/l/_7o2sDuVO3JJw
https://dl.doubtnut.com/l/_PYudaGy1KvoA


D. 

Answer: A

Watch Video Solution

3

6. The rationalising factor of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5√a2b3c4

5√a3b2c

4√a3b2c

3√a3b2c

√a3b2c

7.  is not equal to1/(√3 − √2)

https://dl.doubtnut.com/l/_PYudaGy1KvoA
https://dl.doubtnut.com/l/_IInhmAod9lYg
https://dl.doubtnut.com/l/_NuqHZgilmMqy


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√3 + √2

√2/(√6 − 2)

(√3 − √2)/(5 − 2√6)

√3/(9 − √6)

8. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+
a + √a2 − b2

a − √a2 − b2

a − √a2 − b2

a + √a2 − b2

a2

b2

a2 − b2

4a2 − 2b2

https://dl.doubtnut.com/l/_NuqHZgilmMqy
https://dl.doubtnut.com/l/_Os09TGAq7qAX


9. Arrange in descending order of magnitude .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3√2, 6√3, 9√4

9√4, 6√3, 3√2

9√4, 3√2, 6√3

3√2, 6√3, 9√4

6√3, 9√4, 3√2

10. Write a rational number between  and 

A. 

B. 

C. 

√2 √3

√2 + √3

2

√2 × √3

2

1.5

https://dl.doubtnut.com/l/_Os09TGAq7qAX
https://dl.doubtnut.com/l/_G23pwaVdKtam
https://dl.doubtnut.com/l/_d9Hg3seeJWpU


D. 

Answer: C

Watch Video Solution

1.8

11. The greater between  and  is

A. 

B. 

C. Both are equal

D. Cannot compare

Answer: B

Watch Video Solution

√17 − √12 √11 − √6

√17 − √12

√11 − √6

12. Which of the following expressions is same as  ?
1

( 3√2 − 1)

https://dl.doubtnut.com/l/_d9Hg3seeJWpU
https://dl.doubtnut.com/l/_7XOGYUWoKdin
https://dl.doubtnut.com/l/_6vmrZ76knWtE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√2 + 1

3√4 + 1

3√4 + 3√2 + 1

3√4 + 2 3√2 + 1

13. If  then b equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

m =
cab

a − b

m(a − b)

ca

cab − ma

−m

1

1 + c

ma

m + ca

https://dl.doubtnut.com/l/_6vmrZ76knWtE
https://dl.doubtnut.com/l/_VFxdGNj017hV


14. The value of  is equal to:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( ) × ( ) × ( )
xq

xr

1
qr xr

xp

1
rp xp

xq

1
pq

x
+ +1

p
1
q

1
r

0

xpq+qr+rp

1

15. The value of  equals

A. 

B. 

C. 

( 6√27 −√6 )
2

3

4

√3

2

3

2

√3

4

https://dl.doubtnut.com/l/_VFxdGNj017hV
https://dl.doubtnut.com/l/_EJCt3c1Pk4P7
https://dl.doubtnut.com/l/_KzwSvPiy03YB


D. 

Answer: D

Watch Video Solution

3

4

16. The rational number between  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/2 1/3

2/5

1/5

3/5

4/5

17. Simplify: 
2n+4 − 2(2n)

2(2n+3)

https://dl.doubtnut.com/l/_KzwSvPiy03YB
https://dl.doubtnut.com/l/_e4jjy5SA8LxT
https://dl.doubtnut.com/l/_EF36vms5CyE4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2n+1 − )
1

8

−2n+1

1 − 2n

7/8

18. If , then  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a + )
2

= 9
1

a
a3 +

1

a3

10√3

3

3√3

18

7√7

https://dl.doubtnut.com/l/_EF36vms5CyE4
https://dl.doubtnut.com/l/_gCrpBg2pTZCg


19. If both 'a' and 'b' are rational numbers, then 'a' and 'b' from

 , respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= a√5 − b
3 − √5

3 + 2√5

,
9

11

19

11

,
19

11

9

11

,
2

11

8

11

,
10

11

21

11

20.  equals

A. 

B. 

2√6

√2 + √3 + √5

√2 + √3 − √5

4 − √2 − √3

https://dl.doubtnut.com/l/_gCrpBg2pTZCg
https://dl.doubtnut.com/l/_LyIa7Onhdd9h
https://dl.doubtnut.com/l/_5a2k3m4M84Ub


C. 

D. 

Answer: A

Watch Video Solution

√2 + √3 + √6 − 5

(√2 + √5 − √3)
1

2

21. If , then find the value of x.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25x−1 = 52x−1 − 100

3

2

4

1

https://dl.doubtnut.com/l/_5a2k3m4M84Ub
https://dl.doubtnut.com/l/_cdZNOtPyuAIJ


22. If , then the values of  and  respectively

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 2 − √3 x2 +
1

x2
x2 −

1

x2

14, 8√3

−14, − 8√3

14, − 8√3

−14, 8√3

23. 

A. 

B. 

C. 

D. 

444 + 444 + 444 + 444 = 4x, thenx

45

44

176

11

https://dl.doubtnut.com/l/_6uIfVulBfv2T
https://dl.doubtnut.com/l/_5CfRwtt5HT8R


Answer: A

Watch Video Solution

24. The  root of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100th 10(10
10 )

108
10

1010
8

(√10)
(√10)

10

10(√10)
√10

25. Which of the following numbers has the terminating decimal

representation ?

https://dl.doubtnut.com/l/_5CfRwtt5HT8R
https://dl.doubtnut.com/l/_v0p2UK5JeOyd
https://dl.doubtnut.com/l/_C6oSKw8LIX5Q


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1/7

1/3

3/5

17/3

26. Which of the following numbers can be represented as non-

terminating repeating decimals ?

A. 

B. 

C. 

D. 

Answer: C

39/24

3/16

3/11

137/25

https://dl.doubtnut.com/l/_C6oSKw8LIX5Q
https://dl.doubtnut.com/l/_rLgB3pWARf6a


Watch Video Solution

27. If 
, what is the value of 
when 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

g = t +  4t−
2
3

1
2 g t = 64?

31/2

33/2

16

257/16

28. if  find the value of 

A. 

B. 

C. 

x = 9 + 4√5 √x −
1

√x

1

2

3

https://dl.doubtnut.com/l/_rLgB3pWARf6a
https://dl.doubtnut.com/l/_s9XWukayByTV
https://dl.doubtnut.com/l/_zxhNo0lcA4qJ


D. 

Answer: D

Watch Video Solution

4

29. If , find the value of  .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x =
1

√5 − 2
x3 − 3x2 − 5x + 3

3

4

5

6

https://dl.doubtnut.com/l/_zxhNo0lcA4qJ
https://dl.doubtnut.com/l/_HAIKUUr2feEU


30. The smallest rational number by which  should be multiplied so

that its decimal expansion terminates after one place of decimal is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1/3

3/100

3/10

3

30

31. Evaluate : 

A. 

B. 

C. 

D. 

(27)− . (27)− [(27) − (27) ]
1
3

1
3

1
3

2
3

−2/3

1/3

−1/3

2/3

https://dl.doubtnut.com/l/_agQaOC7Yamik
https://dl.doubtnut.com/l/_JQZDWcRaOw38


Answer: A

Watch Video Solution

32. If  and  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 16, = 81
2m+n

2n−m

3p

3n
a = 21 / 10 =

a2m+n−p

(am−2n+2p)
−1

2

1/4

9

1/8

33. Find the value of 

A. 

−
4

(216)−2/3

1

(256)−3/4

144

https://dl.doubtnut.com/l/_JQZDWcRaOw38
https://dl.doubtnut.com/l/_QY6wwzbin4ZX
https://dl.doubtnut.com/l/_Uzq1rXmgGLNL


B. 

C. 

D. 

Answer: C

Watch Video Solution

64

80

36

34. Find the value of 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(xa+ b)
2
(xb+ c)

2
(xc+a)2

(xaxbxc)
4

1

4

−1

2

https://dl.doubtnut.com/l/_Uzq1rXmgGLNL
https://dl.doubtnut.com/l/_RxCBhFdVwyFy


35. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= 37, thenx =
35x × 812 × 6561

32x

3

−3

1/3

−1/3

36. For an integer n, a student states the following : 

I. If n is odd,  is even . 


II. If n is even  is odd. 


III. If n is even  is irrational . 


Which of the above statements would be true ?

A. Both I and III

(n + 1)
2

(n − 1)
2

√(n − 1)

https://dl.doubtnut.com/l/_UMJPHQyCj8rV
https://dl.doubtnut.com/l/_YAJvPtI4txrc


B. Both I and II

C. All I, II and III

D. Both II and III

Answer: B

Watch Video Solution

37. If  and  , then the value of 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√5 = 2.236 √10 = 3.162

15

√10 + √20 + √40 − √5 − √80

5.398

4.398

3.398

6.398

https://dl.doubtnut.com/l/_YAJvPtI4txrc
https://dl.doubtnut.com/l/_8uiZ5FcqeNt1


38. The value of  is

A. less than 

B. equal to 

C. equal to 

D. greater than 

Answer: B

Watch Video Solution

+ + + .... . +
1

1 × 2

1

2 × 3

1

3 × 4

1

99 × 100

99

100

99

100

99

100

100

99

39. If  then  =

A. 

B. 

C. 

D. 

x =
√3 + 1

2
x3 +

1

x3

28√3 + 15

8

27√3 − 35

4

28√3 − 15

8

27√3 + 35

4

https://dl.doubtnut.com/l/_8uiZ5FcqeNt1
https://dl.doubtnut.com/l/_egWLAiE2eH6x
https://dl.doubtnut.com/l/_t3PjaJx7Aga2


Answer: B

View Text Solution

40. Which one of the following is correct ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

{( 3√7 + 7√3)( 3√7 + 7√3 − 2)} − 24 = ( 3√7 + 7√3 + 4)( 3√7 + 7√3 − 6

{( 3√7 + 7√3)( 3√7 + 7√3 + 2)} + 24 = ( 3√7 + 7√3 + 4)( 3√7 + 7√3 + 6

{( 3√7 + 7√3)( 3√7 + 7√3 + 2)} − 24 = ( 3√7 + 7√3 − 4)( 3√7 + 7√3 − 6

{( 3√7 + 7√3)( 3√7 + 7√3 − 2)} + 24 = ( 3√7 + 7√3 − 4)( 3√7 + 7√3 + 6

https://dl.doubtnut.com/l/_t3PjaJx7Aga2
https://dl.doubtnut.com/l/_ELGlUpx1zjWf


41. Simplify 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5√x4 4√x3 3√x2
√x.

x23 / 24

x23 / 6

x5 / 6

x119 / 120

42. If  then find the value of 

A. 

B. 

C. 

x =
√p + q + √p − q

√p + q − √p − q
qx2 − 2px + q

0

1

−1

https://dl.doubtnut.com/l/_ELGlUpx1zjWf
https://dl.doubtnut.com/l/_DAPSc5IkX48l
https://dl.doubtnut.com/l/_qwCzJuiXN8KK


D. 

Answer: A

Watch Video Solution

2

43. Which of the following statements is true ?

A. Product of two irrational numbers is always irrational

B. Product of a rational and an irrational number is always irrational

C. Sum of two irrational numbers can never be irrational

D. Sum of an integer and a rational number can never be an integer

Answer: B

Watch Video Solution

44. Simplify : 
3−3 × 62 × √98

52 × ( ) × (15)
−

× 31
25

1
3 4

3
1
3

https://dl.doubtnut.com/l/_qwCzJuiXN8KK
https://dl.doubtnut.com/l/_zgat9325xuLi
https://dl.doubtnut.com/l/_l9jftDtOjyuH


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

28√2

28

28√3

45. Simplify : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− +
3√2

√6 − √3

4√3

√6 − √2

2√3

√6 + 2

√2

√3

1

0

https://dl.doubtnut.com/l/_l9jftDtOjyuH
https://dl.doubtnut.com/l/_VffGtWf4GJTX


46. If  then value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a = andb =
√2 + 1

√2 − 1

√2 − 1

√2 + 1
a2 + ab + b2

70

35

40

34

47. If  where p and q are rational numbers, then

values of p and q respectively are

A. 

B. 

= p + q√5
3 + 2√5

4 − 2√5

8, − 7/2

−8, − 7/2

https://dl.doubtnut.com/l/_VffGtWf4GJTX
https://dl.doubtnut.com/l/_Owz0P17NtuRc
https://dl.doubtnut.com/l/_JLRoEx42mAiw


C. 

D. 

Answer: B

Watch Video Solution

+4, + 7

−4, − 7

48.  is equal to

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

2. 6̄ − 0. ¯̄̄¯82

181

999

182

99

82

99

https://dl.doubtnut.com/l/_JLRoEx42mAiw
https://dl.doubtnut.com/l/_4ITDt4VlUBHO


49. If  and  , then the value of 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 3√5 + 2√2 y = 3√5 − 2√2

(x2 − y2)
2

240

140

5760

5300

50. If  , then the value of 

 is

A. 

B. 

x = + +
√3 + 1

√3 − 1

√3 − 1

√3 + 1

√3 − 2

√3 + 2

x2 + ( )
239

x

114

110

https://dl.doubtnut.com/l/_iFlZs9ikMej1
https://dl.doubtnut.com/l/_7xkHNlwZ5JHb


Exercise Match The Following

C. 

D. 

Answer: A

View Text Solution

112

113

1. Match the following : 

A. P-1, Q-2, R-4, S-3

https://dl.doubtnut.com/l/_7xkHNlwZ5JHb
https://dl.doubtnut.com/l/_hb4yrwdGBR8W


B. P-3, Q-2, R-1, S-4

C. P-2, Q-3, R-4, S-1

D. P-4, Q-1, R-3, S-2

Answer: D

View Text Solution

2. Match the following if  and

 . 


A. P-2, Q-3, R-1, S-4

B. P-1, Q-2, R-3, S-4

√2 = 1.414, √3 = 1.732, √5 = 2.236

π = 3.141

https://dl.doubtnut.com/l/_hb4yrwdGBR8W
https://dl.doubtnut.com/l/_qsBXwkv26kYs


C. P-4, Q-1, R-2, S-3

D. P-3, Q-1, R-2, S-4

Answer: A

View Text Solution

3. Match the following : 

A. P-1, Q-2, R-3, S-4

B. P-4, Q-3, R-1, S-2

https://dl.doubtnut.com/l/_qsBXwkv26kYs
https://dl.doubtnut.com/l/_3H0CTmCqAxrD


Exercise Assertion Reason Type

C. P-3, Q-2, R-4, S-1

D. P-4, Q-3, R-2, S-1

Answer: B

View Text Solution

1. Assertion :  is a terminating decimal and we can express this

number as  which is of the form p/q, where p and q are integers

and  . 


Reason : A terminating or non-terminating decimal expansion can be

expressed as rational number .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

0.271

271/1000

q ≠ 0

https://dl.doubtnut.com/l/_3H0CTmCqAxrD
https://dl.doubtnut.com/l/_9bOA4qRFce0o


B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

2. Assertion : Rational number lying between two rational numbers a and

b is  . 


Reason : There is one rational number lying between any two rational

numbers .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

a + b/2

https://dl.doubtnut.com/l/_9bOA4qRFce0o
https://dl.doubtnut.com/l/_sDiPmCs8NrNk


C. If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

3. Assertion :  are examples of irrational numbers . 


Reason : An irrational number can be expressed in the form p/q .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: C

√2, √3

https://dl.doubtnut.com/l/_sDiPmCs8NrNk
https://dl.doubtnut.com/l/_40HeZgkAj88V


Watch Video Solution

4. Assertion : If  , then  . 


Reason : Square root of a positive real number always exists .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: D

Watch Video Solution

√2 = 1.414, √3 = 1.732 √5 = √2 + √3

https://dl.doubtnut.com/l/_40HeZgkAj88V
https://dl.doubtnut.com/l/_6VFbiK6iJCdp


Exercise Comprehension Type

5. Assertion :  is an irrational number . 


Reason : The difference of a rational number and an irrational number is

an irrational number .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

5 − √2 = 5 − 1.414 = 3.586

https://dl.doubtnut.com/l/_IjlfNYqyCuNV


1.  and  , where  and  are

positive real numbers . 

If  and , then  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(√x + √y)
2
= x + y + 2√xy √x√y = √xy x y

x = 2√5 + √3 y = 2√5 − √3 x4 + y4

1538

1200

1048

149

2.  and  , where  and  are

positive real numbers . 

If  and , then  =

A. 

(√x + √y)
2
= x + y + 2√xy √x√y = √xy x y

x = √3 + 3√2 y = √3 − 3√2 x4 + y4 − 8x2y2

3914

https://dl.doubtnut.com/l/_qnCmKPO8NVjd
https://dl.doubtnut.com/l/_SDXgkX8mvmwr


B. 

C. 

D. 

Answer: C

View Text Solution

3010

−486

−856

3.  and  , where  and  are

positive real numbers . 

If  and  , then 

A. 

B. 

C. 

D. 

Answer: B

(√x + √y)
2
= x + y + 2√xy √x√y = √xy x y

a = 1 + √2 + √3 b = 1 + √2 − √3 a2 + b2 − 2a − 2b =

11

8

152

15

https://dl.doubtnut.com/l/_SDXgkX8mvmwr
https://dl.doubtnut.com/l/_paYakGTr8KAj


Watch Video Solution

4. For  the rationalising factor is a  . 


If  and  , then value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

a√x + b√y
a√x − b√y

x =
1

3 − 2√2
y =

1

3 + 2√2
xy2 + x2y

4

12

6

9

5. For  the rationalising factor is a  . 


If  then value of  is

A. 

1

a√x + b√y
a√x − b√y

x =
√5 + √3

√80 + √48 − √45 − √27
4x2 + 3x + 5

15

https://dl.doubtnut.com/l/_paYakGTr8KAj
https://dl.doubtnut.com/l/_qiBRN5oqAO4E
https://dl.doubtnut.com/l/_8k6j9lq2UeGz


B. 

C. 

D. 

Answer: C

Watch Video Solution

2

12

5

6. For  the rationalising factor is a  . 


If  , then value of 

is

A. 

B. 

C. 

D. 

Answer: A

1

a√x + b√y
a√x − b√y

x = − −
7√3

√10 + √3

3√2

√15 + 3√2

2√5

√6 + √5
x4 + x2

2

1

0

12

https://dl.doubtnut.com/l/_8k6j9lq2UeGz
https://dl.doubtnut.com/l/_Hab5VY1ISmBU


Exercise Subjective Problems Very Short Answer Type

Watch Video Solution

1. If 
and 
, find 

Watch Video Solution

x =
√3 + √2

√3 − √2
y =

√3 − √2

√3 + √2
x2 + y2

2. If  , then show that  .

Watch Video Solution

√x + √x − √1 − x = 1 x =
16

25

3. If , then the value  is :

Watch Video Solution

x = 3 + 32 / 3 + 31 / 3 x3 − 9x2 + 18x − 12

https://dl.doubtnut.com/l/_Hab5VY1ISmBU
https://dl.doubtnut.com/l/_3E9sXq3CT2Bn
https://dl.doubtnut.com/l/_y7ndoNVBRCnR
https://dl.doubtnut.com/l/_ugK8aU9FRGSx


4. If  , then show that 

 .

Watch Video Solution

x = (4 + √15)
1 / 3

+ (4 − √15)
1 / 3

x3 − 3x − 8 = 0

5. If  , then find  .

Watch Video Solution

√x − √12 = √4 − √x x

6. Show that  .

Watch Video Solution

− + = 0
1

√2 + √3

2

√5 − √3

3

√5 − √2

7. If  , then find the value of  .

Watch Video Solution

√15 − x√14 = √8 − √7 x

https://dl.doubtnut.com/l/_xfTL4UfgOT1F
https://dl.doubtnut.com/l/_jchnp6vEcLJv
https://dl.doubtnut.com/l/_rqiYv8nSJKGd
https://dl.doubtnut.com/l/_2j32S89upI4h


Exercise Subjective Problems Short Answer Type

8. Solve :  .

Watch Video Solution

√9 + 2x − √2x =
5

√9 + 2x

9. Find the value of 

Watch Video Solution

y =




⎷ √ √ .... ∞

1

2

1

2

1

2

10. Is  a rational number ? Can you write it in the form p/q , where p

and q are integers and  ?

Watch Video Solution

5.25

q ≠ 0

1. If  , then show that  .x = (√a + )
1

2

1

√a
=

√x2 − 1

x − √x2 − 1

a − 1

2

https://dl.doubtnut.com/l/_wvMP70IqIPqe
https://dl.doubtnut.com/l/_OUCEFgULxSeA
https://dl.doubtnut.com/l/_yI6D4IVgbORU
https://dl.doubtnut.com/l/_b8m7Ufj6Qmey


Watch Video Solution

2. If  , then show that  abc .

Watch Video Solution

a1 / 3 + b1 / 3 + c1 / 3 = 0 (a + b + c)3 = 27

3. Find  rational numbers between  and  .

Watch Video Solution

10 −
1

9

4

9

4. Find the value of 

Watch Video Solution

√1 + 2√1 + 2√1 + 2√1 + ......

5. Convert  into decimal form .

Watch Video Solution

5/11

https://dl.doubtnut.com/l/_b8m7Ufj6Qmey
https://dl.doubtnut.com/l/_XndSGBJaRTSY
https://dl.doubtnut.com/l/_fIAah49RwLSw
https://dl.doubtnut.com/l/_1fgWJ7qLi5RY
https://dl.doubtnut.com/l/_y6CDL864q2lz


6. If  and  , the value of  is

Watch Video Solution

a =
√5 + 1

√5 − 1
b =

√5 − 1

√5 + 1
( )
a2 + ab + b2

a2 − ab + b2

7. Represent  in the form m/n .

Watch Video Solution

0. ¯̄̄¯23

8. Given that  and  then find the value of 

 .

Watch Video Solution

√3 = 1.732 √5 = 2.236

( )
6

√5 − √3

9. Simplify the following expressions : 

(a)  


(b) 

Watch Video Solution

(√3 + √5)
2

(√5 − √2)
2

https://dl.doubtnut.com/l/_yHg71SVtlFNJ
https://dl.doubtnut.com/l/_wMEI07lWpe4T
https://dl.doubtnut.com/l/_rVZhagdqxGry
https://dl.doubtnut.com/l/_f7W25XbS0rSV


Exercise Subjective Problems Long Answer Type

Watch Video Solution

10. Simplify : 

(a)  


(b)  


(c )  


(d)  


(e )  


(f) 

Watch Video Solution

(9)
3 / 2

(9)
−3/2

(25)
3 / 2

(36)
3 / 2

(49)
−3/2

(0.0001)
−3/4

1. Express the following recurring decimal expansions in the form p/q ,

where p and q are integers and  . 


(a)  


(b) 

W t h Vid S l ti

q ≠ 0

0. 7̄

0.2̄ ¯̄̄57

https://dl.doubtnut.com/l/_f7W25XbS0rSV
https://dl.doubtnut.com/l/_o5gFNabJUoOy
https://dl.doubtnut.com/l/_aZFgOiQ6BcoL


Watch Video Solution

2. Show that  , if 

and  .

Watch Video Solution

3√ax2 + by2 + cz2 = 3√a + 3√b + 3√c ax3 = by3 = cz3

+ + = 1
1

x

1

y

1

z

3. Prove that

Watch Video Solution

+ + + .... + = 2
1

1 + √2

1

√2 + √3

1

√3 + √4

1

√8 + √9

4. If  and  , then find the value of 

 .

Watch Video Solution

a =
√3 + √2

√3 − √2
b =

√3 − √2

√3 + √2

3(a2 − b2)

https://dl.doubtnut.com/l/_aZFgOiQ6BcoL
https://dl.doubtnut.com/l/_0OGNtcNcfPnd
https://dl.doubtnut.com/l/_fMho2qX3cwGy
https://dl.doubtnut.com/l/_gNAVnfPZuoBY


Exercise Integer Numerical Value Type

5. If , find the value of 

 .

Watch Video Solution

x =
7 − √45

2

(x3 + ) − 7(x2 + ) + (x + )
1

x3

1

x2

1

x

1. If  and  , then find the value of  .

Watch Video Solution

x = 9 + 4√5 xy = 1 ( + )
1

x2

1

y2

2. The value of

 is

Watch Video Solution

+ + + +
1

√4 + √5

1

√5 + √6

1

√6 + √7

1

√7 + √8

1

√8 + √9

https://dl.doubtnut.com/l/_wNklN8lRFfVC
https://dl.doubtnut.com/l/_07K5VOPaaBuP
https://dl.doubtnut.com/l/_DhndE3Adwif5


3. If  , then  equals

Watch Video Solution

N = − √3 − 2√2
√√5 + 2 + √√5 − 2

√√5 + 1
N + 2

4. Find the value of  , if  .

Watch Video Solution

9x 5x−3.32x−8 = 225

5. If  , then find m-n .

Watch Video Solution

=
9n × 32 × (3−n/ 2)

−2
− (27)

n

33m × 23
1

27

6. If  and , then abc equals

Watch Video Solution

a2bc3 = 25 ab2 = 5

https://dl.doubtnut.com/l/_oIZghjKe4Chw
https://dl.doubtnut.com/l/_kf3Mx4jlWVIm
https://dl.doubtnut.com/l/_uU9LHMz4vJsB
https://dl.doubtnut.com/l/_SrR8fsDgeOhU


7. If  , then  is equal to

Watch Video Solution

x + 1/x = 3 3(x2 + 1/x2)

8. If a and b are two rational numbers and  , what is

the value of b ?

Watch Video Solution

= a + b√3
2 + √3

2 − √3

9. If 
find the value of 

Watch Video Solution

x = ,
√3 + 1

2
4x3 + 2x2 − 8x + 7.

10. Simplify : 

Watch Video Solution

999813 × 999815 + 1

(999814)
2

https://dl.doubtnut.com/l/_UodzmndfCt8W
https://dl.doubtnut.com/l/_wdz2w9cBZxxX
https://dl.doubtnut.com/l/_Dz4PgOkju2m2
https://dl.doubtnut.com/l/_Y77Mw1yupfOu


Olympiad Hots Corner

1. Which of the following statements is incorrect ?

A. There can be a real number which is both rational and irrational .

B. The sum of any two irrational numbers is not always irrational .

C. For any positive integers  and y , 

D. Every integer is a rational number .

Answer: A

Watch Video Solution

x x < y ⇒ x2 < y2

2. Find the value of  .

A. 

B. 

93 / 2 − 3 × 50 − [ ]
−1/2

1
81

( )
−2/3

+ + ( )64
125

1

( )
1/4

256
625

√25
3√64

15/13

0

https://dl.doubtnut.com/l/_LTWICVS40MhJ
https://dl.doubtnut.com/l/_PHF6QJZTo6dr


C. 

D. 

Answer: D

Watch Video Solution

16/5

48/13

3. If  then  =

A. ax

B. 

C. 

D. 

Answer: A

Watch Video Solution

x =
√a + 2b + √a − 2b

√a + 2b − √a − 2b
bx2 + b

0

−ax

−1

https://dl.doubtnut.com/l/_PHF6QJZTo6dr
https://dl.doubtnut.com/l/_cAHaI9DBBA4w


4. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√6 + 2√3 + 2√2 + 2√6 −
1

√5 − 2√6

2

−1

√3 + √2

1

5. If  and , then 

 is equal to

A. 

B. 

C. 

a = 2 + √3 + √5 b = 3 + √3 − √5

a2 + b2 − 4a − 6b − 3

2

−1

1

https://dl.doubtnut.com/l/_mAkuuNDKQYFN
https://dl.doubtnut.com/l/_C4tnud8MHZMY


D. 

Answer: D

Watch Video Solution

0

6. Find the values of the integers a and b respectively, for which the

solution of the equation  is  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x√24 = x√3 + √6
a + √b

7

4, 2

2, 6

3, 2

9, 5

https://dl.doubtnut.com/l/_C4tnud8MHZMY
https://dl.doubtnut.com/l/_cOi7y52z5yY2


7. The value of expression  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0.6)
0
− (0.1)

−1

( )
−1

. ( )
3
+ ( − )

−1
3

23
3
2

1
3

−3/2

2/3

3/2

9/4

8. Expressing  as a single decimal, we get

A. 

B. 

C. 

D. 

0. ¯̄̄¯23 + 0.23̄

0.465̄

0.4̄ ¯̄̄65

0. ¯̄̄ ¯̄¯465

0.4654̄

https://dl.doubtnut.com/l/_oOIxGHW6NT7f
https://dl.doubtnut.com/l/_9QK3FmnkEpEX


Answer: B

Watch Video Solution

9. If  and  , then find  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

=
4√3 + 5√2

√48 + √18

a + b√6

15
( )

x

( )
2x

=
a

b

b

a

64

729
x

3

2

1

4

10. 
then 
3
(b) 9 (c) 27
(d) 81

A. 

If  √2n = 1024,   3
2( −4)

=
n

4

3

https://dl.doubtnut.com/l/_9QK3FmnkEpEX
https://dl.doubtnut.com/l/_bEzxPIxSmVag
https://dl.doubtnut.com/l/_h7B67tDz4xou


B. 

C. 

D. 

Answer: B

Watch Video Solution

9

27

81

11. Express  in the form , where a and b

are rational numbers, then the values of a and b respectively are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 − +
1

1 + √3

1

1 − √3
a + b√3

1, 2

1, − 1

3, 1

2, 1

https://dl.doubtnut.com/l/_h7B67tDz4xou
https://dl.doubtnut.com/l/_QsZ7131UJItt


12. If  , then the value of  , where a and b are

rational numbers, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= a + √3b
3 + 2√3

3 − √3
√a + b

5

8

2

16

13. Simplify:


A. 

B. 

C. 

+ −
2

√5 +  √3

1

√3 +  √2

3

√5 +  √2

3

2

4

https://dl.doubtnut.com/l/_QsZ7131UJItt
https://dl.doubtnut.com/l/_2iN5AGbwAOXI
https://dl.doubtnut.com/l/_l8NaaCRyVt7r


D. 

Answer: D

Watch Video Solution

0

14. What is the value of  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2. 6̄ − 1. 9̄

0. 6̄

0. 9̄

0. 7̄

0.7

15. The sum of  and  is0. 6̄ 0. 7̄

https://dl.doubtnut.com/l/_l8NaaCRyVt7r
https://dl.doubtnut.com/l/_Sx5Y2nedVtYW
https://dl.doubtnut.com/l/_Zm56DdxTm9F0


A. 

B. 

C. 

D. an irrational number

Answer: C

Watch Video Solution

1. 3̄

1.3

1. 4̄

16. If  and , then find the value of

z.

A. 

B. 

C. 

D. 

Answer: C

2x = 4y = 8z ( + + ) =
1

2x

1

4y

1

6z
24
7

7/16

7/32

7/48

7/64

https://dl.doubtnut.com/l/_Zm56DdxTm9F0
https://dl.doubtnut.com/l/_3fVh2KCor0kb


Watch Video Solution

17. If  , then a =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√3 × 33 ÷ 3−3/2 = 3a+2

2

1/2

4

0

18. Find the value of a and b respectively, if  .

A. 

B. 

= 47a + √3b
5 + √3

7 − 4√3

2, 1

1, 27

https://dl.doubtnut.com/l/_3fVh2KCor0kb
https://dl.doubtnut.com/l/_HzGQGRYC3kbN
https://dl.doubtnut.com/l/_bM4g1TBzNPfl


C. 

D. 

Answer: B

Watch Video Solution

11, 28

2, 38

19. If  , then what is the value of  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x+3 = 32 36−x

7

9

27

81

https://dl.doubtnut.com/l/_bM4g1TBzNPfl
https://dl.doubtnut.com/l/_IFXtS4kbODtY


20. The numbers  and  ….. are

A. Rational and irrational respectively

B. Both rationals

C. Both irrationals

D. None of these

Answer: A

Watch Video Solution

7.478478…. 1.101001000100001

https://dl.doubtnut.com/l/_Yr9Zs9wXA8fZ

